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l. Sequences of positive integers with the consecutive integer property.
Consider a sequence of k positive integers |a;} = a,, ..., g, with the following
properties:

(i) a; < k for all i,

{1} (the consecutive integer property) There is an n such that g; is the
quotient when n+1 is cleared of all its prime factors greater than k. Or, for each
prime p < k, the pattern of that prime and its powers in the a's is the same as
the pattern of that prime and its powers in some sequence of k consecutive
integers.

Notice that the sequence 1, 4, 3, 2 satisfies the above properties since the
consecutive integers 19, 20, 21, 22 factor into 1-19, 4-5, 3-7 2-11. The
sequences 2, 3, | and 2, 3, 2 satisfy (i) but not (ii) since if n4 1 is twice an odd
number, then 4 divides n+ 3. The sequence 1, 6, | satisfies (i) (with n 41 = 5)
but not (i),

Tueorem 1. If {a), 1 i<k, has properties (i) and (ii) then {a;} is a
permutation of 1,..., k.

Proof. Our theorem is true for k = 1, Assume the theorem true for all
s < k/2. That is, any sequence of s < k/2 positive integers with each of them less
than or equal to s which possesses the consecutive integer property is a
permutation of the first s positive integers.

Our plan is to show that each integer », 1 < r < k, occurs exactly once as
one of the a's. Then {a,] will be a permutation of 1, ..., k.

Let S=n+1,...,n+k be a sequence where n+i = a; b,
prime factors of b, are greater than k.

Consider first an integer r such that k/2 < r < k. In any sequence of k
consecutive integers, there are ene or two multiples of r. Suppose there were
two such multiples of r in S. Then one of these would be divisible by 2r, so 2r

a; < k, and all
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would divide one of the a's, which is impossible since 2r > k. Thus exactly one
of the elements of § is a multiple of r. Let n+j =rq. Thenr = a;, and g = b,

In the general case, consider integers r and s such that k/s+ 1) = r < &/s
where s = k/2. In any sequence of k consecutive integers there are 5 or s+ |
consecutive multiples of r. Suppose there were s+ 1 such multiples in S. Then
one of these and its corresponding a would be divisible by (s41)r. But
($+1}r = k s0 this @ would be greater than &k which violates property (i). Thus
there are exactly s elements of 5 which are multiples of r.

Notice that the s quotients (n+j)/r, ..., (n+j+{s—1)¢)/r, are a sequence of
consecutive integers. Write these quotients as ¢;d;, 1 < i < s, where the primes
dividing ¢; are less than or equal to k, and the primes dividing d; are greater
than k. It is clear that each re; is one of the a's. Since re, < k, ¢, < k/r < 5+ 1,
and ¢,, ..., ¢, has the consecutive integer property. Since s < k/2, our theorem
shows that the ¢'s are a permutation of the numbers | through s. Thus r occurs
exactly once as one of the a's, for each r = 2. The remaining &; must be
equal to 1,

List of solutions {a, 1 <i <k, with properties (i) and (iil. From our
theorem we know that {a,] is a permutation of 1, ..., k. However, very few of
the k! possible permutations have the consecutive integer property. We list
solutions below.

The identity permutation e = 1, ..., k is a solution, since there is always a
sequence of consecutive integers {n+i} when n =0 (mod [] p"™), and hip) is
K

the least integer such that p"® > k. For instance, if k=4, n =0 (mod 2% 33),
and the consecutive integers 73, 74, 75, 76 factor into 173, 2-37, 3:5%, 4-19,
Also n = 48 works (and of course n = 0).

The p* swap, where p* swaps with p* !, is a solution when p* <k
< p"+p*'. For example, 1, 4, 3, 2 is a 2% swap.

Remark 1. Any solution with p* < k < p*+p" ! can be p* swapped.

Proof. Suppose a,,...,a, is a solution with p* <k <p’+p'~' Let
a, = p° Since p® = 2p® !, there are other multiples of p*~ ' in our sequence. In
fact, by Theorem 1, there are exactly p multiples of p*~*: p*~!, 2:p°°1, ...
vy PP =p" Let a; = p"~ . We can remove a factor p from p-p* ' =a,
and place it on a; without disturbing the consecutive integer property, for p*~*
still divides or does not divide the appropriate a’s. Thus p* may be swapped
with p*~ 1,

The f-shift. Il k+1 15 prime and a, = | then a;, a;, ..., 4, 1 15 also a
solution for k= 2. (fk= 1L, r=¢;if k=21 =2') Forexample, 2, 3, 4, | is a
t-shift,

Remark 2. When k41 is prime the fact that any sclution can be
t-shifted or is the r-shift of a solution is a corollary of the completeness of our
list.
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The symmetric flip s, where a, swaps with ap.; ;, is another solution when

ks 5 dEk=ls=ailk=2s=t=2%il k=3 5=3 ik =4 s =¢t- 2%

= 5.5 = 2*-5') With n divisible by p"'™ as above. the sequence of consecutive

integers associated with the symmetric flip of the identity is n—k. n—k+ 1, ...

vros N—1. Thus for k = 4, the sequence of consecutive integers 68, 69, 70, 71
factors into 4-17, 3-23, 24(5-7) 1-71. Also 20, 21, 22, 23 works.

Remark 3. The symmetric flip of any solution is a solution.

The r(u, f} permutation, where 6u+1 and 12u—1 are primes, k = 12u—3,
and u =1, is a family of 2/ solutions. Here a, = 1, a4y = 2, dgu—q = 6u—1,
tgy-3 = 6u—+1, and for all other a;, a, =i+2. Also there are j additional
optional twin prime swaps, one for each pair of twin primes 6r+ 1, u < r < Ju,
in positions 6r—3and 6r—1, (Il k=9, u= 1 and r(l, 0) = 5-2%- 3%, We could
describe 5, 4, 3, 2, 1 a5 a degenerate r-type permutation of 1, 2, 3, 4, 5 with
u=2/3)

The p+ 2 twin prime double swap swaps p with p+2 and 2 with 2p when
k=2p or 2p+1, p and p+2 are twin primes, p =5 (IF k=6, 34+2=13s-1;
k=T 3+2=0T il k=10, 542=23-7-22-3 i k=11, 542 =5:2*
.32.“14

Remark 4. The t-shift and the p+2 twin prime double swap commute.

Consider a solution {a,f, witha, = l;q, =ifori=2,p, p+2and 2p; k+1
prime; and k/2 = pand k/2+ 2 = p+ 2 twin primes. Then ¢ followed by p+ 2 or
p+2 followed byt gives 2p, @y, ..., Qu—1s PH 28540, Py Ope s oo Bag=1s 2, L
The general case presents no added difficulty.

This completes our list of solutions. Table 1 provides an easy reference for
conditions under which a particular value of k can have a given solution.

Table 1. Types: of solutions

Mame of solutions Conditions
identity ¢ all &
P oswap p prsk<pyp!
t-shift 1 . k+1 prime; k=2
symmetric flip s k=5
riu, j) permutation riw, jj k=12u—3 tut| and 12u—1 primes; k =9
p+2 twin prime double swap p+2 k=2por Z2p+ 1 p and p+2 primes; &= 11

Definitions, remarks and strategy. For many months we were unable to
prove that our list of solutions was complete. We wrote a program to check
that the above hist was complete for fixed &, and ran the program for all
k = 3000. The definitions, remarks and strategies that follow, developed while
writing and using the program, together with the suggestion of W. H. Mills that
we use induction, led to the proof that our list was complete (the main
theorem).
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We say that a prime power ¢ is in position il p*|a, exactly when p*|d; p® is
placed in or forced into position if any other placement of p* would force a, > k
for some j < n. A number n is said to be in position if each of the prime powers
dividing n is in poesition.

Remark 5 When k+1 is prime, for each solution a,, a,, ..., d,, @4,
there is another solution ay, ., 4,, ..., 4, a, and two corresponding sequences
l, @300 .0y tty and as, ...oay, 1 which are solutions for & (k = 1)

Proof. Any prime p which divides a, or a,., will also divide [k/p] other
a's. S0 p will divide 1+[k/p] a's. On the other hand, if p divided more than
[(k+1)p] &'s one of them would be larger than k+1. But 14[k/p]
= [(k+1)/p]l only if pjk+1. Since k+ 1 is a prime, p = k+1. Thus g, = k+1
and a, = | or vice versa. For each such solution having | on one end and k+1
on the other, we can do a p' swap, so solutions come in pairs, But deleting & + 1
from the sequence when a;.; = k41 and a, = | leaves a sequence of k terms
which can be t-shifted. Thus lor each pair of solutions at the k+ 1 level related
by a p' swap, there is a corresponding pair of solutions at the k level related by
the t-shift. (Considering s, such solutions for & or for p=Fk+1 come in
quadruples when &k = 2.

Remark 6. Thereis a one-to-one correspondence between the solutions
for k and those for k+1 when k41 is prime.

This follows at once from Remarks 2 and 5.

Remark 7. I k+1 is not prime, then any solution a;, ..., @ most have
all proper prime power factors of k+1 in position.

Proof. a; < k forces n and n+k+1 to be multiples of k+ 1. This means
that each proper prime power factor of k41 is in position,

Strategy for the placement of primes. For a particular value of k and a
particular prime p. assume all primes less than p and all powers g
g*4q" ' = k with a = 2, are in position. We wish to place p. Notice that for
p = k2, p canmot be placed on 2, 3, ..., p—1, or p+1, else the resulting a;
would be greater than k. Thus p is placed in position when p+1 < k < 2p. We
call the set 4 =23, ....p—1, p+1 a blocking set.

Notice that when p = k, we cannot force p into position using A, but the
blocking set 2, 3. .... p—| forces p into the first or kth position; which agrees
with the p' swap.

When p+2 < k < 3p, the blocking set B=3,4, ..., p—1, p+1, p+2 will
place p in position unless p+2 is prime. (When p=3, B=4. 5)

When p < [£/2] we will place p in position using induction, described
later. If p = [k/2] and k = 2p (ie, k= 2p or 2p+ 1), and p and p+2 are twin
primes, there are two possibilities for placing p and p+ 2. These are dealt with
by the p+ 2 twin prime double swap. Notice that the swapping of pand p+ 2 in
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no way interferes with the blocking set 4 when placing the primes between
p+2 and k.

In the inductive proof that follows, our strategy will be to place all primes
less than [£/2] by an inductive procedure. We will need to place the powers of
these primes which have not been placed by induction.

Assume all primes p less than [k/2] are in position (after possible
renumbering of the a's), and we wish to place p“. Assume further that the
exponent a = 2. If p* < k<p”+p" "', we use the blocking set 2p"~ !, 3p* !, ...
<o (p=1p* ! to force p” into one of two possible places, agreeing with the p°
swap. If p"+p° ' < k < 2p°, we simply use blocking set p* ' 4 (i.c., blocking
set A with each member multiplied by p* ") to place p*. lf p°+2p° ! < k < 3p",
we can use blocking set p* 'B=3p" ', ..., (p=1p*" L (p+1)p* L (p£2)
xp' ! to force p* into position. (Note that (p+2)p* ' < k with p* ! =2
implies that p+2 < [k/2].) Thus all p* with p°+p" ' < k < 3p" (0 = 2) are in
position,

The placement of the powers of 2 and all prime powers less than k/3 will
be done by induction. Thus all appropriate prime powers will be in position.

Tueorem 2 (The main theorem). If {a;}, | < i<k, has (i) a, < k for all i
and (ii) the consecutive integer property, then |a;) is one of the listed solutions.

Proof. Our proof is by induction. We prove the theorem true for k < 6,
and at the same time we set up inductive sets for each k/2 or (k—1)/2 which are
used to generate all possible solutions for k. These inductive sets (sequences)
consist of solutions up to symmetric flips for k/2 or (k—1)/2 when the sets are
augmented by p for each p® swap. We exclude from our inductive sets any
r(u, j) permutation and any twin prime double swap since, as we prove below,
they do not induce any solutions for k.

Start by assuming that we have all solutions for [k/2]. We wish to find all
solutions for k. Let a,, a,, ..., a, be any sequence which has properties (i) and
(ii). For k even, let the sequence a;, @iz, ..., Gj+p—2, With j =1 or 2, be the
subsequence of even integers in {a,}. Let a;=2b,, a;,3=2b,, ..., ;.4
= 2by;. For k odd, a, =2b,, a, =2b,, ..., 4y, = 2by_ 1. The sequence
b}, 1 < i< [k/2], has properties (i) and (ii) for [k/2]. So the sequence of b's
must be one of the solutions for [k/2]. We use our inductive sets to {ix the evens
in {a,} and hence the primes less than [k/2]. We then use the blocking sets
described above to place the remaining powers and the larger primes.

List of solutions for small k. For k=1, we have only the identity
permutation. For k = 2, we have two solutions: the identity and its symmetric
flip. In general we find half the solutions from the inductive set(s), and the
others from the fact that the symmetric flip of any solution is a solution.

For k = 3, we again have two solutions: the identity and its symmetric flip.
So our induoctive set is 1, 2, 3. We have four solutions for k = 4: the identity. the
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2% swap and their symmetric flips. Here our induetive set is 1, 2, 3, 2 which
leaves the 2* swap open. (In the solutions by induction for k = 8 and 9 there is
a corresponding 27 swap.) For k = 5 we again have four solutions: the identity,
the 2* swap and their symmetric flips. (Notice that 5' =35-2%) We take our
inductive set to be 1, 2, 3, 2, 5 again leaving the 2* swap open.

We choose to begin our induction with k = 6. Since k+1 is prime, we
work with k+ 2 = ¥ and place the lactors of 8 in position. We now have seven
positions, but we do not know whether the solutions will come from the left six
or the right six. Let us call this set of positions a tableau. With the factors of §
in position, our tableau looks like this:

Lo 421 g

Since our inductive set for k/2 =3 is 1, 2, 3, the corresponding a's are 2, 4, 6.
They must be placed consecutively in every other slot of our tableau, and
indeed can only be placed on the 2, 4, and 2 in positions 2, 4, and 6. Now since
6 is in position, 3 is placed in position and we can use blocking set 4 to place 5.
Qur tableau now looks like this:

12345618,

[Here we have seven numbers in our tableau. and we need only six. We
evidently have two solutions: the left six or the right six. Note that the left six
positions are the identity permutation while the right six account for the r-shift.
Thus there are just four solutions for k = 6; the identity, the t-shift and their
symmetric flips. We have two inductive sets: 1,2, 3, 4, 5, 6and 2, 3, 4, 5, 6, 1.
We use the notation 17, 2, 3. 4, 5, 6, [1 to indicate these two inductive sets in
Table 2.

In the case of k = 7, we have to place exactly three even integers. So they
must be placed in even positions, We proceed exactly as for k = 6, and finally 7
can be placed in position | or 7. Of course, this represents the 7' swap. So we
have four solutions, and our inductive set 15 1, 2,.... 6, L.

For k = 8. we use k+ 1 = 9 to set our tableau, and place 3 in positions 3
and 6:

I i B U Ui 1 A (T
Since our inductive set is 1, 2, 3, 2, we must place 2, 4, 6, 4 in positions 1,3, 5, 7

or in positions 2, 4, 6, 8 But the 3 in position 6 forces us to place the 6 in
position. Our tableau now looks like this:

1234161409

We use blocking set A to place 5 and again to place 7. We have four solutions:
the identity, the 27 swap and their symmetric flips, and our inductive set for
k=8is 1,2 3,4 56 7.4
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For k =9, we have exactly four even integers to place. So they must be
placed in even positions. We place 5 and 7 using blocking set 4. There are eight
solutions generated by 23, 3% and &

For k = 10, we set our tableau using 12 since 11 is prime;

12341514321 |12

The five evens are placed in position, and we use blocking set 4 to place 7 in
position. Again our tablean has k+1 entries;

1 234536743101 1

We have 16 solutions generated by 2°, 3%, r and s, and two inductive sets, the
left and the right,
For k = 11, the five even integers musi be placed in even positions. We
proceed as for k = 10, getting 16 solutions generated by 2%, 3% 11' and s
Finding solutions for k = 12 illustrates another case. Since k+1 is prime,

Table 2. Inductive sets and solutions for k = 27

k Inductive set HOIEHORS Numh,:r f’r
{up to symmelry) solutions

P 1

i 2

3 ik 2

PR Fes- A 1S 22 q

- W S PR . L 4

D [ S R { 4

R ] i 4

- T S 2! 4

L T [ F s T o #

o i O, A B ) | P 16
LLL s e e o L 16
12 R 12, [1 t 4
- i P B v s | 134 4
148 3 0 2
) Sl SR P 2
15 ]2 el 5 BT 21 8
o S [A{L TUR L. bl o ]
- R 1 P S SRR LR b | Rl 2oy 8
1. OIS o SOt Lo 5 Lo U | 24 10t fi
[T A SRS - A Lt 1 | * 4
., BRI G TSRS | P, 08 [ e ]| a4 4
2 8

- S & e SRR, [ 00) i LR - I | 28 1142 16
- S et SSRGS b R R i | 24 23 1142 16
or SR - S 2
25 RS 57 4
- ) (Al RS TR 1 5t 4
7 (R - SR W O AL . ad 8
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we use k+2 =14 to set our tableau:
ETN21 2712120 |04,

Since k/2 = 6, we have two inductive sets (the r-shift and the identity) and two
possible placements for the evens:

14161 8710112121 |14
or

12141678 1'101121 |4

Notice that the right inductive set (top tableau) forces a 3 on the 7 in position 7
which violates properly (i), So we must use the bottom tableau. Let us
seneralize this.

Remark 8. In the case where k+1isa prime p and k +2 is twice a prime
2g, we have g = 1 (mod 3), and the right inductive set on k/2 will force a 3 on g,
giving 3¢ = k which contradicts property (i). Thus we need only consider the
left inductive set in this case.

Returning to k = 12, blocking set 34 = 6, 12 places 9 in position, then A is
used to place 11 in position. Our tableau now leads to the four solutions for
k = 12: the identity, the t-shift and their symmetric llips. Table 2 above gives
inductive sets and solutions for k < 27.

Remark 9. Inducting on any r{u, j) permutation solution leads to a
contradiction. Thus we never include an r(u.j) permutation among our
inductive sets.

Proof. Suppose we used an riu, j) permutation as an inductive sel and
[k/2] = 12u—3. Then k = 24u—6 or 24u—35, and we can set our tablean using
24u—4, forcing even integers into even positions. The r(u, j) inductive set forces
2(6u+1) into position 2(6u—3), and thus 6u+1 is in position 6u—7. But all
primes and their powers less than 6u—1 are four positions down (i.e., a; = 6,
a, =8, ...) Thus 6u—3 crowds into position 6u—7. And since (6u+1)x
= (6u—3) = k, property (i} has been violated. Thus we never include an r(u, j)
permutation among our inductive sets.

Remark 10, Inducting on the twin prime double swap solution leads to
a similar contradiction. Thus we do not include the twin prime double swap
among our inductive sets.

Proof. Suppose the twin prime double swap were used as an inductive
set, Then we would use it to place the small primes in position, to place 2p in
position 2p+4, and to place 2p+4 in position 2p (after renumbering the
positions if necessary). Then p+2 would be in position p—2. But all prime
power factors of p—2 would also be there. And (p—2)(p+2) = k, contradicting
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our assumption. Thus we can never use the twin prime double swap as an
inductive set.

In summary, we have one inductive set when [k/2] 4+ 1 is not prime and left
and right inductive sets when [k/2]+1 is prime ([k/2] = 4).

The induction. Suppose all solutions for all positive integers less than k are
of the listed types. We need (o prove that all solutions for k are of the listed
types. We consider various k's.

Case 1: k odd:
Lo k+ 1 not twice a prime;
Lp: k+1=2p:
lpe p+2 not prime,
Lp.p: p+2 prime:
Lp.pe k+2 not prime.
Lp.pp k+2 prime.
Case 2: k even:
2c k+1 not prime.
1p: k+1 prime:
2pc k+2 not twice a prime.
2pp k+2 twice a prime.

Case 1: kodd. When k is odd, we must place precisely (k—1)/2 even
integers. Thus even integers must be placed in even positions.

L.e. When k+1 is not twice a prime, we do not have a t-shift among our
inductive sets. Thus our inductive set is unique and is uniquely placed. All
primes less than (k—1)/2 are placed in position using the inductive sel, and as
described above, all powers of these primes are placed in position. If k = 2p+ 1,
we try to place p using blocking set B. If p and p+ 2 are twin primes, they are in
position or in each other’s position, the twin prime double swap. In any case,
all other primes g with k/2 < ¢ < k are then placed using blocking set 4. We
have the identity, possible p* and twin prime double swaps and their symmetric
flips.

Lp: k+1=2p. When k+1 =2p, we have two inductive sets: the left
(k—1)/2 and the right (k—1)/2. The left inductive set places evens in position.
The right inductive set places evens two down from position (a, =4,
2y =6, ...)

l.pe. k+1=2pand p+2 not prime. Setting a tableau on k+1 places p in
position, while the right inductive set forces all factors of p+ 2 into this same
position, which violates property (i). Thus, the right inductive set cannot be
used, and we must use the left inductive set. Now all primes less than p are
placed using this inductive set, and their powers are then placed in position.
The primes g with p < ¢ < k are placed using blocking set A. Our solutions are
the jdentity, possible p* swaps and their symmetric flips.

6 — Acta Arithmeticn ¢ 4%, = 3
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Lp.p: k+1 =2p, and p+ 2 prime. Since k > 5, the twin primes p and p+2
are of the form 6w+ |, We set our tableau on k+1 for each of the two inductive
sets, fixing evens in even positions and p in position.

lLppe k+1=2p, p+2 prime and k+2 not prime. Using the right
inductive set. factors of k+2 will be placed two positions down giving
a; =k+2 and violating property (i) (k+2# 4" since 3|k and k+1
= 2p # g"—1). Using the left inductive set and prime power blocking sets
places in position all primes less than p and their powers. Primes greater than p
are then placed using blocking set A. Thus the identity, possible p" swaps and
their symmetric flips comprise all possible solutions.

Lpp.p. k+1=2p, p+2 prime and k+ 2 prime. The left inductive set places
all primes less than p in position and then their powers are placed in position.
All primes greater than p are placed using blocking set 4. Thus solutions using
the left inductive set are the identity, possible p* swaps and their symmetric
flips.

The right inductive set places all primes less than p and their powers two
positions down. Let us renumber the positions in our tableau with new
numbers 3 to k42 so that these primes and powers will be “in position”, But
this renumbering will place p in the new position p+ 2. This will force p+4 2 into
position p using blocking set 3, 4, ..., p—1, p+1, p+2, p+3, p+4. Now all
primes greater than p+2 will be placed in position using blocking set B unless
there are a pair of twin primes, in which case the twin primes may be placed in
position or swapped. This, of course, gives the r(u, j) permutation plus its j
optional twin prime swaps. Possible p* swaps and symmetric flips complete the
description,

Case 2.; keven. In the case where k is even, we have two possible
placements for the evens. So we will always use a tableau,

2.c. k+1 not prime, We set our tableau using k+ 1. Let g be the least prime
divisor of k+1. Thus (k+1)/g is in position and also in position 2(k + 1)/g.
Notice that for k=8, (k+1)/g is at least 5 and if of the form p* then
PP pt T < 4p3 = 4(k+1)/3g < 4(k+1)/9 < k/2. Thus (k+1)/q occurs in the
inductive set. Now there are al most two inductive sets and two possible
placements of the evens in our tableau. These place 2(k+ 1)/g in position or 1,
2, or 3 down from position in our tableau. But (k4 1)/g is in position 2{k+1)/g,
s0 2(k+1)/q must also be there, and not 1, 2, or 3 down.

Thus the left inductive set must be used, the evens are in position, and all
primes less than k/2 and then their powers are placed in position. If k = 2p, we
try placing p using blocking set B. If p and p+ 2 are twin primes, they must be
in position or in each other’s positions (the twin prime double swap). All other
primes greater than k/2 are placed using blocking set A. Thus the solutions to
this case are the identity, possible p* and twin prime double swaps and their
symmetric flips.

2.p: k+1 prime. Since k+1 is prime, we set our tableau on k+2, fixing
evens in even positions,
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2pe. k+1 prime and k+2 not twice a prime. Since k42 is not twice a
prime, we have a unique inductive set which the tableau uniguely places. All
primes less than k/2 and then their powers are placed in position. If k/2 = p, we
try placing p using blocking set B. If p and p+ 2 are twin primes, they again are
in position or swapped (the twin prime double swap). All other primes greater
than k/2 are placed in position by blocking set A. Since we have k+ 1 positions,
we can use either the left k or the right k, giving as solutions the identity, the
t-shilt, possible p* and twin prime double swaps and their symmetric {lips.

2pp. k+1=p, k+2=2q We set our tableau on k+2 to place into
position the even integers and ¢. By Remark 8, we must use the left inductive
set, placing all primes less than g and then their powers in position. We use
blocking set 4 to place all primes greater than g. But we still have k41
positions. We may use either the left k or the right &, thus giving as solutions
the identity, the t-shift, possible p* swaps and their symmetric flips.

Numbers of solutions. Except in the case where k = 12u— 3 with 6u-+1 and
12u—1 primes (the r(u, j) permutation), there are surprisingly few solutions.
Table 3 gives the r(w,j) permutations for k < 5000.

Table 3, riu, ;) permuotations with & = 5000

ko 6u—1 6u+112u—1 j b ko Gu—1 6u+l12u—1 ) b
@ § 7 40N 1617 B9 811 1619 20 0
o O T 2037 1019 1021 2039 26 0
57 20 3l 3. 10 2061 1031 1033 2063 25 |
81 41 43 83 22 2097 1049 1051 2099 26 |
357 179 181 359 § 2 2457 1229 1231 2459 3) 3
|1 191 193 3®3 T 2 2577 1289 1291 2579 29 3
477 239 241 479 T 0 2901 1451 1453 2903 3} 2
61 281 283 563 6 1 2061 1481 1483 2963 1] 1
837 419 421 839 11 | 3861 1931 1933 3863 42 0O
861 431 433 863 11 2 4257 2129 2131 4259 46 |
1281 641 643 1283 14 | 4281 2141 2143 4283 47 |
1317 658 el 31800F 1 4677 2339 2341 4679 50 |

{*1 & ia the number of p* swape [or the given &
Tota] number of solutions Tor k= 12w—3 & 241 (2410)

Table 4 gives the number b of p* swaps for each k from the value listed up
to but not including the next value histed. For example, there are two p* swaps
for each k from 169 through 181,

The twin primes in Table 5 can be used to find p+ 2 twin prime double
swaps as well as to verily the number of optional twin prime swaps, j, in the
r(u, j) permutation.

We can easily use Tables 3, 4 and 5, together with a table of primes, to find
the number of solutions for any k < 5000. The b column in Table 4 gives the
number of p® swaps (g > 1) between indicated values of k.
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Table 4. Number of p* swaps, o = 1, k= 12

e b k bk h VT B e L R tr
12 008 0], 4924 52 1 WE o0 2048 o] WY 0
16 '1 . B 3 283 1 8 x NEglvaEET 2 i3S |
i TR IR -k R RS- S e ) B e i
25 1 108 D 2890 3 625 2 1359 -3 2209 4 380 |
S R -3 R U< ¢S b LR S B¢ e R 2l
A1 S 3 32 0L R0 3 45801 H206R R 2TEE
AT 2 128 3. 33 2 T8 10153 0 240 3 3TRE0
I 1 132 2 361 3 B4l X 1681, 1. 24 7 W09s |
48 0 150 1 330 2 BY0 1 1722 0 209 3 44R9 2
49 1 W% 2 384 1 961 2 184907 2862 2 4S5E) 1
56 0 182 1 392 0 ¥R 1 189 002916 1 4813 2

The number of solutions for the r(u, j) permutation gets very large as u
increases because of the apparent increasing number of pairs of twin primes
between 6u+ 1 and 12u—1. The total number of solutions for k= 12u—3 15
2271 (2 4-1): the 2/ permutations from the j twin prime pairs plus the identity,
each of those allowing b additional p® swaps, and all of them finally being
symmetrically flipped. Notice that the largest number of solutions for & = 5000
is for k = 4677 with 4(2°°+1) solutions.

Table 5. The 126 twin prime pairs less than 5000
3 5

5 T 599 601 1619 1621 2T11 2713 3917 3919
11, 13 617" 619 1667 1669 2720 2731 3920 3493
17 19 641 643 1697 1699 ITRO 2791 40001 4003
29 31 659 661 1721 1723 2801 2R03 4019 4021
4 43 309 811 1787 1789 2069 2971 4049 4051
59 6l 821 B23 I8T71 1873 2990 3001 4091 4093
71 73 227 B2 1BFT 1879 3119 3121 4127 4129
101 103 857  B3% 1931 1933 3167 3169 4157 4159
7 109 881 BRI 1949 1951 3251 3253 4217 4219
137 139 1% 1021 1997 1999 3257 3259 4229 4231
e 151 1031 1033 2027 2020 3200 3301 4X1 4043
179 181 1049 1051 2081 2083 3320 3331 4250 426]
191 193 1061 1063 2087 2080 3359 3361 4271 4273
197 199 1091 1093 2111 2113 3371 3373 4337 430
227 229 1151 115) 2129 2131 3389 3391 4471 4473
239 241 1229 1231 2141 2143 2461 3463 4481 4433
269 2N 12TT 129 2237 2239 3467 3469 4517 4519
281 283 1289 1291 2267 2269 2527 3529 4547 4549
311 M3 1301 1303 2309 2311 3539 3541 4637 4639
T 349 1319 1321 2339 2341 3557 3579 4649 4650
419 421 1427 1429 2381 2333 3581 3583 471 4773
431 433 1451 1453 2549 2551 3671 3673 47T 470
461 463 1481 1483 2591 2593 3767 370 4799 4301
521 523 1487 1489 2657 2659 3821 3323 4931 4933
569 571 1607 1609 2687 2689 3851 3853 4967 4940
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Except for those ks which have an r{u, j) permutation, the largest number
of solutions for any k < 5000 15 64. For example, k = 2458 has 64 solutions; the
2* permutations involving the 2'!, 37 and 7* swaps, each of which can be
1229 42 twin prime double swapped, each of these in turn can be t-shifted, and
finally all resulting permutations can be symmetrically flipped. There are a
total of 16 k's up to 5000 which have 64 solutions (the eight p— 1. p pairs at
p = 2459, 2579 and at the six primes between 2209 and 2256),

Table 6 gives the number of k < 4096 in ranges 2' < k < 2'"" where the
only solutions are the identity and the symmetric flip. There are 722 or
approximately 18% of the k's less than 4096 that have only these two solutions.
On the other hand, there are no k, 2*¥ < k < 2*°, with only the two solutions.

Tahle & Number of &'s between powers of 2 where the
only solutions are the identity and its symmetric flip

pLE = e
i Foal ks { 4# of k's i 4 of K3
1 2 5 4 9 22
2 1] 6 i 10 30
3 2 i 27 11 272
4 1 5 75

THEOREM 3. There are infinitely many k with exactly two solutions

Proof. We will show that the logarithmic density of those values of k
with exactly two solutions is positive.

The logarithmic density of those values of k& which have a r-shift, a twin
prime double swap or an r(u, j) permutation is clearly zero. It suffices to show
that the set of k which satisfy none of the inequalities

(1) Pr<k<pypi?!
has positive logarithmic density.
First observe that for every prime p

(2) S 1k = (1+o(1))(Ilnx)(In(1+1/p))in p

kExx
where the dash indicates that the summation extends over all & < x which
satisfy (1) for some a. The proof of (2) is really easy, We have

¥ 1k =(1+o(1))In(l+1/p).

p Sk g4 pa
and this implies (2) since there are In x/ln p choices for a. Now (2) immediately
implies that for every p and x

(3) Y Lk < (2lnx)/{(pln p).

k<x
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Of course (3) implizs that for every & > 0 there is an h so that the logarithmic
density of the integers & which satisfy (1) for some p = is less than epsilon
since Y 1/(pIn p) converges. Here we only use that the rth prime is greater than
crinr; ie, we do not need the prime number theorem,

Now from the rational independence of In p we immediately obtain from
{3) and the sieve of Eratosthenes that the logaritmic density of the integers
which do not satisfy any of the inegualities (1) exists and equals

(4) [[(l=In{1 +1/p)np)=¢, O<ec<l,
P
where (4} is extended over all primes p =2, since as stated the product
converges. Table 7 shows that the density is less than .1799 and seems to be
converging nicely. In the region between 5/3 million and 2 million, it has
decreased by only 0001,
If (1) is replaced by

Prsk<pitept!,
the logarithmic density exists and is positive as long as
(5) Yt flplnp) < oo,
'
It is easy to see that if (5) diverges then the logarithmic density of the
integers which are in none of these intervals is zero. It might be of interest to

investigate for which values of the sequence ¢ there are infinitely many such &'s
when E t/lplnp) = o, We have not worked on this.

"
We have used the logarithmic density since it is easy to show that the
lower density 15 zero while the upper density is positive.

Table 7. Logarithmic density

bounds

Least Logarithmic
prime density
2 AL504
11 2A3E3
101 20754
10049 19377
10007 AB698
100003 18299
1000003 18042
1999553 1T9R6

Denote by A (x) the number of integers k < x which do not satisfy any of
the inequalities (1). Tt easily follows from the linear independence of the
logarithms of the primes that liminf 4 (x)/x = 0 sinee for every & there are
infinitely many integers x so that all the integers x < k < dx satisfy at least one
of the inequalities (1). (We only need } 1/p = oo.) It would be of some interest
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to bound from below the largest integer /i (x) < x which does not satisfy any of
the inequalities (1). Also we could try to give reasonably good upper and lower
bounds for A(x).

Let b{k) be the number of selutions of (1). We have determined this
number up to 5000 (Table 4). 1t might be of interest to obtain a good upper
bound on & The largest b in our table is 4. It follows from the linsar
independence of the logarithms of the primes that limsup b (k) = oo and clearly
b(k) < Ink/ln 2 since for every a there is at most one p which can satisfy (1). In
fact, bik) < ¢(Ink}Inlnk 15 easy. More may be much harder,

a; = k for some i, We now consider sequences of & positive integers where
some «'s are greater than L

Tneorem 4. If a, ..., a, is a sequence of k positive integers with the
consecutive integer property and a, < k+ 1 for all i, then no integer will appear
twice. In the case where || a, = k!, a, € k, for any prime power factor q of k+ 1
must divide a_. In the case where [ ] a; # k!, the sequence will be a permutation of
the first k+ 1 positive integers with one integer deleted. Moreover, the deleted
integer which a; = k+1 replaces will be ged(j, k+1).

The proof is similar to that of Theorem 1 and is left to the reader,

The smallest k for which maxa, = k+2 and []a, = k! is k = 4 where the
sequence of consecutive integers {n- i} with least n is 41, 42, 43, 44, For k = 10,
the sequence with least n is 7186, ..., 7195, We hope to investigate further the
case when some a, > k and []a,=k! in a later paper.

2. Estimates on the least prime factors of binomial coefficients, 1t has been

observed [1] that the least prime factor p of the binomial coelfficient J:)
satishies p = N/k when N 1s large compared to k. Selfridge [2] conjecturad that

for N = k*—1, (f) always has a prime factor less than or equal to N/k with

; a2’ : iln : " 1
one exception; ( : ) Combining this with the case when N < k°, we have the
following:

Comiecture, For N 2= 2E, the least prime factor of P:) is less than or equal
to max(N/k. k) with 14 exceptions which are listed below,

6
-t ()
s (6 ()
v ()08 () 6 6D ) € G
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The p on the left indicate the least prime in the factorization of the (I:)

. 2 e 633 = ¥
An interesting near miss 1s ( s ) If we changed our conjecture to max(N/k,

k+3) we would have only one exception. A stronger conjecture would be

p = max(N/k, ﬁ} with a finite number of exceptions or perhaps even
p = max (N/k, clnk)

It is clear that the properties of sequences of positive integers discussed in
Section | of this paper are directly related to the problem of the size of the least
prime factor of the binomial coefficient. To match our notation there, we let
N=n+k

Let

(iif) n+i=a;b,, 1 <=i<k where

l_[ Pis bh; = ” ;-
pilm+i qilr+i
mEk gi=k

If []a; > k! then (":k) has a prime factor p < k. So assume [ |a, = k!.

Let kjn+j. Then b;<(n+j)/k, and unless b, =1, it has a prime factor
g = (n+j)/k = N/k. If any of the b, is composite, then its least prime factor is
less than N/k

When [] a, = k! we call the number of i such that b, = 1 the deficiency of

c) and use the notation d(N, k). For example 4(239,14) =2

Remark 11. For some purposes it might be more convenient to define

the deficiency of (Lr) as k minus the number of prime [actors g > &.

‘s ; ; . A b b

An example of when the two definitions give different deficiencies is (,r
An illustration of how the alternative definition can be interpreted in two
different ways is ( ﬂ) However, the two notions of deficiency coincide if none

of the b, are composite. Either version of the definition shows that any binomial
cuefﬁuenl with d(N, k) < 1 is not an exception to our conjecture. Seven of

; i 2 : 3
these exceptional binomial coefficients have a deficiency of 1: G), ( 1¢ ), (I:),

2 ki 4 . 44 74
( 3). (& ). (g ) and (95). Of the seven remaining, ( ) and ( ) have
5 & 10 i & 10

deficiencies of 2: (%) ‘”) and G‘:) have deficiencies of 3; (??) has a

10, \10
deficiency of 4; and ( g) has the remarkable deficiency of 9.
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Positive deficiencies occur only if ged ((:) k!) = 1 and at least one of the

b, = 1. For every k there seem to be several binomial coefficients with a
deficiency of 1. For example, for k = 10, we simply make a tableau similar to
those in Section 1 of this paper, loading as many prime power factors of small
primes as allowable on one slot of the tableau, and find d(635, 10) = 1. We
have no similar way to construct deficiencies of 2 for given k. However, for

fixed k and N large, (:) will not have positive deficiency. We hope to make a

more systematic study of binomial coefficients with positive deficiencies in a
later paper.
For given k, it is not hard to compute the density, D(N, k), of N. such that

(:r) has no prime factors p < & For example, for k=2 through 10, the

densities are 1/2, 1/6, 2/9, 2/45, 4/75, 1/75, 4/225, 2/75. and 1/15. It is clear that
the density goes to zero as k becomes large.
When N = k* and a; < k. | <i<k and the b, are all primes. the least

prime factor of : is nearly N/k. Each solution discussed in Section 1 should

vield an infinite set of N in which the b, are all primes. This is a well-known
generalization of the twin prime conjecture. To make p = N/k. we need choose

those solutions where a, = k. For example, for k = 3, we have (339) and ( Iﬂﬂ):

5
[2724)

for k =4, ( . For k = 5, there are two types of solutions: (225) and (ITI).

corresponding to the two solutions |1, 4, 3, 2, 5} and {1, 2, 3. 4, 5}. For each of
the eight primes up to 5000 which has 64 solutions, 32 of these solutions have
the property that a, = k. Notice that the number of solutions with a, = k is
always a power of 2.

Owr study of sequences of integers with the consecutive integer property
and of prime factors of binomial coeflicients has led us to consider many
related problems, too numerous to investigate in this paper. We hope o
investigate these problems in a later paper, should we live that long.

We would like to thank Robert Morris for helpful discussions,
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